
EXERCISE-1
A

Q.1 
 

Q.2  ? 
 

Q.3 
: 

(i) 
(ii) 
(iii) 
(iv) 
(v) 
(vi) 

 

Q.4 
 ? 

 

Q.5 
 

Q.6   ? 
 

Q.7  ? 
 

Q.8 
 ? 

 

Q.9 
 

Q.10 S.I.

 

Q.11 S.I. 

 

Q.12 0.5 m2
50 N 

 

Q.13 ? 

Q.14 
 ? 

 

Q.15 
 ? 

 

Q.16 
 ? 

 

Q.17 (feather) 
- ? 

 

Q.18 
B

Q.19 
 

Q.20 
 

Q.21 
 ? 

 

Q.22 

? 
 

Q.23 

 

Q.24 

 

Q.25 
 

Q.26 100 m/s 20 gm 
800 gm 



 

Q.27 

 ? 
Q.28 4 kg 20 N 

5 s 

 

Q.29 100 gm 40 ms–1
0.02s 

 

Q.30 
 

Q.31 (fluid)
 

Q.32 
 

Q.33 

? 

Q.34 8.6 N 
6.8 N 

Q.35 
2 

 

Q.36 SI 
CGS 

 

Q.37 

8.2 gm/cm3

C
Q.38 

? 
 

Q.39 48.5 gmf 
42.0 gmf 44.5 gmf 

 

Q.40 

 ? 



EXERCISE-2


 

Q.1 A  B 
10 kg 30 kg : 
(A) A, B 
(B) B, A 
(C) A  B 
(D) 

Q.2  - 
(A) 
(B) 
(C) 
(D) 

Q.3  - 
(A) 
(B) 
(C) A B 
(D) A B 

Q.4  - 
(A) 
(B) 
(C) 
(D) 

Q.5 ? 
(A) 
(B) 

(C) 
(D) 

Q.6 
, 

 - 
(A) 
(B) 
(C) 
(D) 

Q.7  - 
(A) 
(B) 
(C) 
(D) 

Q.8 
: 

(A) 
(B) 
(C) 
(D) 

Q.9 
: 

(A) 

(B) 
(C) 



(D) 

Q.10 ..............
 - 

(A) (B) 
(C) (D) 

Q.11  - 
(A) 
(B) 
(C) 
(D) 

Q.12  - 
(A) 
(B) 
(C) A B 
(D) A B 

Q.13 ............  - 
(A) (B) 
(C) (D) 

Q.14 ...........

(A) (B) 
(C) (D) 

Q.15 C.G.S.  - 
(A) m/s (B) s/m 
(C) (D) 

Q.16  - 
(A) (B) 
(C) (D) 

Q.17. 1 kg  1 N , 
, 

 - 
(A) 1 ms–1 

(B) 1 kms–1

(C) 10 ms–2 
(D) 1 ms–2 

 Q.18 1 kg 
, 5 ms–1 

 - 
(A) 5 N (B) 0.2 N 

  (C) 0 N (D) 

Q.19   20 kg 2ms–2 

S.I. 
 - 

(A) 40 (B) 10 
(C) 4 (D) 1 

Q.20 M v 

 - 
(A) (B) Mv 
(C) –Mv (D) –2 Mv 

Q.21  - 
(A) (B)  
(C) A  B (D) A  B 

Q.22  9.8 N  - 
(A) 1 kgf  (B) 1 kgwt 
(C) A  B (D) A  B 



Q.23 5 kg 20 m/s 
0.20 m/s - 
(A) 99 kgm/s 
(B) 99 kgm/s 
(C) 101 kgm/s 
(D) 101 kgm/s 

Q.24 
- 

(A) (B) 
(C) (D) 

Q.25 1 N  ? 
(A) 106 (B) 104 
(C) 105 (D) 103 

Q.26 : 
(A) a = F/m (B) aF = m 
(C) m = F × a (D) 

Q.27 A 
B , - 
(A) A = B 
(B) (A  + B )

= (A + B )
(C)  A  B 
(D)  A  B 

Q.28. 
 - 

(A) 
(B) 
(C) 
(D) 

Q.29 

? 
(A) 
(B) 
(C) 
(D) 

Q.30  0.01 kg 5.0 kg 

250 m/s 
 -    

(A) – 0.50 m/s    (B) – 0.25 m/s 
(C) + 0.05 m/s    (D) + 0.25 m/s 

Q.31 : 
(A) 
(B) 
(C) 
(D) 

Q.32  - 
(A) 
(B) 
(C) -
(D) -

Q.33 
 - 

(A) 
(B) 
(C) 
(D) 



Q.34 
 - 

(A) 
(B) 
(C) A  B 
(D) A B 

Q.35 

A 1.5 N , 
B B  - 

B A
(A) 1.5 N (B) 2.5 N 
(C) 3.0 N (D) 

Q.36 ' '  - 
(A) 
(B) 
(C) 
(D) 

Q.37  - 
(A) 
(B) 
(C) 

(D) 

Q.38 0.05 kg 
400 ms–1 : 

 - 
(A) 20 
(B) 20 
(C) 20 kg wt. 
(D) 

Q.39 .................
................ - 

(A) , (B) , 
(C) , (D) , 

Q.40  - 
(A) 

(B) -

(C)  A  B 
(D)  A  B 



ANSWER KEY
EXERCISE - 1 

12. 100 N/m2 13. 26. 2.43  m/sec 28.25m/s, 100kg m/sec 
29. 200 N 34. 1.B N 

EXERCISE - 2
Ques 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans B C A D D A B D B A C B B D C

Ques 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans A D C A D B C B C C A B B B A

Ques 31 32 33 34 35 36 37 38 39 40
Ans B D A C A A D B B B




